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WAA-001

BlueTooth SPP -

Bluetooth SPP —
/

1 TeraTerm

CFLF(0x0D, 0x0A)

| ‘ #

< >< 1> ..< X><CR><LF>
< > ( :sett)
< >
<CR><LF>

[
-



WAA-001

OK
NG
OK<CR><LF>
NG<CR><LF>
2.4.
"OK”
< > < ><CR><LF>
< >
< >
<CR><LF>
2.5.
< > < > HHMMSSmmm,[<  >,... ]
< > sens, adin
< > adin, rdin, evnt
HHMMSSmmm 24 23:59:59.000
00:00:00.000
[< > (optional)
2.6.




WAA-001

4 require
1 optional PIN AD
4 require 32
49
0~4233599999(49x 24x 60x 60x 1000-1)
2.8
2 x optional 16
1 require (OxC1)
2.7.
HHMMSSmmm
HH 2 00 23
MM 2 00 59
SS 2 00 59
mmm 3 000 999
HHMMSSmmm
"+ +HHMMSSmmm
EXAMPLE
123000000 12:30:00.000
+003000000 30




WAA-001

2.8.

49
24 (86400000)
49  (4233600000)
SPP SETT

msec
=msec/ (24x 60x 60x 1000 )
= (msec/ (60x 60x 1000)) % 24
= (msec/ (60x 1000 )) % 60
= (msec/1000) % 60
= msec % 1000
=((( x 24+ )x 60+ ) x 60+ ) x 1000+
2.9.
SPP

sett

echo

-~ stop

stat

sniff sniff

sens G

senb G (

temp




WAA-001

Bluetooth
Bluetooth SPP Bluetooth
Bluetooth
SETT
SYNTAX

sett HHMMSSmmm

HHMMSSmmm

RESULT
IloKll
uNGn

EVENT

EXAMPLE
18 24 20.123

sett 182420123<CR><LF>

OK<CR><LF>

SYNTAX
echo [{on]off}]

U.I ‘



WAA-001

on

off

RESULT
IIOK"

no Ku

noff-n

echo: {on] off}

EVENT

EXAMPLE 1

uNGn

"on”

echo on<CR><LF>

OK<CR><LF>

EXAMPLE 2

echo<CR><LF>

echo: off

OK<CR><LF>

3.3. stop -

SYNTAX

stop < > [< >]




WAA-001

all
sens
senb
RESULT
IIOK"
IIOK"
"NGII
EVENT
EXAMPLE 1
stop all<CR><LF>
OK<CR><LF>
EXAMPLE 2
senb
stop senb<CR><LF>
OK<CR><LF>
3.4. stat -
SYNTAX
stat < >
< >




WAA-001

all

ver

sniff sniff

time

batt

sens

senb

temp

RESULT
” N Gll
"o Kll

ver:< >
sniff:< > sniff
time:HHMMSSmmm
echo:< >

volt:v.wv (0.01 )

sens: < > (*1)

senb: < > (*1)
temp: < > (*1)

OK

*1

EVENT

EXAMPLE 1

stat all<CR><LF>




WAA-001

Ver:
sniff:5

time: 00:00:27.312
echo: off

volt: 4.12

2.1.0 (r2942)

sens: 00:00:24.689 100 10 0
OK

3.5. sniff - sniff

Bluetooth Specification v1.2

BASEBAND SPECIFICATION 8.7 SNIFF MODE

sniff sniff 8
1 20 20 2 1
2 40 40 2 1
3 60 60 2 1
4 80 80 2 1
5 100 100 2 1
6 140 140 2 3
7 160 160 2 3
5
sniff sniff sniff
sniff sniff
"sniff off” sniff 3
sniff 1 sniff
SYNTAX
sniff {<mode>]off}
<mode> sniff

sniff




WAA-001

off sniff

sniff

RESULT
"OK”

EVENT

EXAMPLE 1

sniff

"NG”

sniff off<CR><LF>

OK<CR><LF>

3.6. sens —

SYNTAX

sens [+]HHMMSSmmm <interval> <count> <times>

[+JHHMMSSmmm

<interval> (5 60000)

<count> (2 60000)

<times> 0 STOP

<interval> <count>

<interval> x <count>
10 <interval> 5 <count>
2 10 <interval> 10
<count> 1
<times> 0 STOP

10




WAA-001

interval=<n>
count=2 <time>
times=3 A
- N
<count> <count> <count>

T <interval> T <intervaI>T <interval> T <interval> T <interval> T

RESULT
"O Kll
” N Gll

EVENT

sens, HHMMSSmmm,<GX><GY><GZ>

sens
HHMMSSmmm
GX X (mG)
GY Y (mG)
Gz z (mG)
EXAMPLE 1
30 5 4

stop

sens +000030000 5 4 0<CR><LF>

OK<CR><LF>

11



WAA-001

30

sens,,000020906,26,-4,-1021
sens,,000020911,26,0,-1021
sens,,000020916,22,1,-1019
sens,,000020921,26,-1,-1023

3.7. senb -

sens

SYNTAX

senb [+]JHHMMSSmmm <interval> <count> <times>

[+JHHMMSSmmm
<interval> (2 60000)
<count> (1 60000)
<times> 0 STOP
<interval> <count>
<interval> x <count>
5 <interval> 1 <count>
5 <interval> 5
<count> 1
<times> 0 STOP

12




WAA-001

interval=<n>
count=2 <time>
times=3 A
o N
<count> <count> <count>

T <intervaI>T <intervaI>T <interval> T <interval> T <intervaI>T

RESULT
"OKII
"NGII

EVENT

4 “senb”

4

2 x 3 16 X Y Z mG

1 (OxC1)
EXAMPLE 1

20 1 5

stop

senb +000020000 1 5 0<CR><LF>

OK<CR><LF>

20

13



WAA-001

<73> <65>

<FF> <DD>
<65> <6E>
<DD> <FF>
<6E> <62>
<FF> <EF>
<62> <00>

<F8> <FC>

<6E>
<FF>
<62>
<EF>
<00>
<FC>
<00>
<3E>

<62> <00> <00>

<EF> <FC> <2C>

<00> <00> <51>

<FC> <35> <C1>

<00> <51> <B9>

<24> <Cl1> <73>

<51> <BE> <FF>

<C1>

<51>
<C1>
<B4>
<73>
<FF>
<65>
<DD>

<AF>
<73>
<FF>
<65>
<DD>
<6E>
<FF>

3.8. temp -

+3

SYNTAX

temp [+]HHMMSSmmm <interval> <count> <times>

75

[+JHHMMSSmmm
<interval> (5 60000)
<count> (1 60000)
<times> 0 STOP
<interval> <count>
<interval> x <count>
10 <interval> 5 <count>
2 10 <interval> 10
<count> 1
<times> 0 STOP
RESULT
IIOKII

nNGn

14




WAA-001

EVENT
AD AD

temp, HHMMSSmmm,<temp>

temp

HHMMSSmmm

<temp> 0.1

EXAMPLE 1
20 500 2
60

temp +000020000 500 2 60<CR><LF>

OK<CR><LF>

20

temp,,002409590,260
temp,,002410590,260
temp,,002411590,260
temp,,002412590,260
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WAA-001

143-0023

info@wireless-t.jp
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